[(H&atLh=]

1. SHLIZHA LIE YRoZ HEMOH= AFAIS O H| SHAIEH £ Q)27
=

)
=2 T
At d2|AEOl RO ZM Ot BOHE 7(CHOIH 2 K| Li=0] ZAIL,.

Z
= 2020 =X X|XCHT 3|

2. Zuo| UL g E3| AL0| ZR3 09I DAUNQ? S Hast EHE <@/ N
Z K| Y2 & Q= HIHS S| LE-0f EA|C} (Z2ICI0FM 2:20 LS & Q{{ -C.’- }JE A
X EMR) I H I'I J_l_’II'I
\Q 74{) e I
I ChR| )|
SHLHEO| HLS T2 I3|AEO| YRS AT HASHOF SHLICH T XS0
H QPE|s 22 SAIQLICE 0| YRo| JpE 2 He mArYLICE ojiHe
IS 2 S| 2 Fof SABIIALICH 1 22 SILILIO| OFSO|A|HA|E X}
|2 B9 Z0| 41T, Z7IIX| 2ESIA|E a0 22 HOAMALICH J2|AE
Ol YROZ HIE HHO Xt= Q| s Ofofl M ALS| MZIstD 0| 2| et
SHESHOF SHLICH SILPE LS J|ZOZ AT 11 QoflA AFIEt [ WOt} 5]
WAO| Q32 0|7 LYT1, SILILO| HESHA =2 M2t SAEH| 47|= YRo|
A OI¢|_|[_|»
T AAH-

[EEC= 7|=5}7(]

BFEHZ ZAG| O Fo| U loN, B4 RIS, YBHZ 2FoHs J2lA
20| YREH SHAM. SHLILOl HIUS BOp Tek AYS 456 0211 542
ChSHs BXI7 17} £P2) Sk,

>> 'ZFHO| Jt2X FA 7|22 RS OpElL|Ct,

Caoreoy M )
LSl AH2121

et J
"Af2t0| DHEHs| £2|2 2| AT 0| UR0|Q SHFLS| HILS T Xp2 ofUX|0{C
Q8| B RSO 8 2 EAO|LEY T 4:1-2 @ FAAE u 2]
Chodae Community Churck




2% | =Of|ul wxy

sLiEe HILE Te Fo| YR

I | DRITHN 4:1-8
Q| O LI Qa} StL(M 32478), Lt Zilo] ] 25| skl 227)
o 0tg @7l

St 2240|417} QT, ZAPHIS S8 2HEHs| LE-0{ 012 22 HE s ole st

[Z2 %211 22=TAM 4:1-82 &M SaLIth

NRIETME F2 553 A HRE0| 34 Tk Ol F of#| 20 3 HEE S
o Nz m3lof 2 MX|QYLICH D2E W3l ALE HHZ0| 24 TE o3z 1
A 1 EHYE MRS T M2 Wl LICE YAl D2IEE XS] e nE
SX|ZA 20pH= ACHOf H0| HERD B2 Q10| SUSHHAM 0|l STt
S ZoPdHYSLICE 02 S8 2101 =3l 0|YAUS 2 FEHQUS ALO|0f|A
ot 2ot 22|H 2SO0 HAN WPt 2B UAASLICH HI22 o0 12
w|of St ASuts AKX ZEts HXIE 2 HO| JAASLICE S of
Of OHofl = A[mt 2t ZSMHX| of2fet JEHol| O|=&IELICH BH2TL, Ot= 20t H|Ht
of, 22|30 J2|Arntz FEE AYL|Ch 22 ARAI0] M2 12lE w0 =2]¢
T S 2Ll 2ot EHIE B2 HuAf N2IEHME BU oiZ YIS MAl
LIt 1-4E7EX| Q] L8 2 AHlmt ZS2| ZX(0f| CHet B2 2| HHYLICt 3FoM=
2POHX| B 50| GlE SAE B P50t 28 258 2011 USS B0, 4
Hoil M= St AFARIZ M| HHIG S ‘2| A LS| FEF 1} St LI2t| HIZ S
T2 AV 2 EARLIC "La ot 72 A= FQI0] OfgL|Ct. Q12 SHLHOIA R, £
2| SO B2 Ao S9S Thots a2 A0 SYLIC

1. H22 d=S0[ A& o AR L= 07| = 20| OFFoittl EotLtR(13)?

2. g XS0 aTEE H2L RoloNIR? (2F)

3. HIE0| N2k W3] 2XSe 22 YR X|Hote dese IRE 252
FaePte? (7-82)

[3iA]

1. HE2 227t StLidel B2 S B2XtEt1 O[Op7[-iLICH StLfE 2| HIZ 0|2
FAS QofotLie?

2. "BEAEW = A2 FNH2 R oA WSS 0 AES QlofotEX| 12 e
wolo| dets SohM 1 Q0|E E[MAH SAICE

3. HLoEEE B OS0IM L2010 2 5= UBLICE B2 252 Ol
OfIAIA AOFE 4= UASLICE Ofl»'H0| 20 F4 A2 o ZH0|UE=X] LE

HAM 2 BEL R SlA HdTHEAILL



